Data sheet
H-2000-2051-03-A

RENISHAW&

apply innovation™

NC1 non-contact tool setting system accessories

The Renishaw NC1 range of
non-contact tool setting

Accessories in the NC1 range include:

* Mounting plates: which enable easy vertical e |nterface: the NCi-4 interface

systems is supported by a
wide choice of accessories.

or horizontal positioning of the transmitter
(Tx) and receiver (Rx) units of NC1
separate systems.

Adjuster packs: which enable accurate
alignment of NC1 tool setting systems to
the axes of a machine tool.

Electrical cable with 90° electrical
connector: which can be used to vary the
entry position of the electrical cable in 45°
increments through +180°. Each 90°
connector incorporates 12.5 metres of
electrical cable, 4 metres of 15 mm
diameter steel braided conduit and one 6.8
mm D ferrite ring.

Service kits: for the maintenance and
servicing of NC1 air regulator and filter
assemblies.

Steel braided conduit: which provides
additional protection of electrical cables
when routed within the machine tool
cabinet.

Stainless steel conduit: which provides
additional protection of pneumatic pipes
when routed within the machine tool.

processes signals from the NC1
and converts them into a voltage-
free solid state relay (SSR) output,
for transmission to the CNC
machine control. For further details
see data sheet H-2000-2232.

The NCi-4 features a drip rejection
mode which allows for any drops of
coolant hitting the beam to be
ignored, taking in only tool
measurements.

Software: Renishaw supplies a
wide range of software packages to
support tool measurement and tool
breakage detection when using the
NC1. Please contact us for a full
list of the CNC controllers currently
supported.

Custom products: where our
current range of standard
accessories cannot meet your
specific requirements, Renishaw
has the capability to custom design
products on your behalf. If you
require such a product then please
contact your local supplier or
Renishaw directly.



Data sheet
NC1 non-contact tool setting system accessories

Mounting plates

62 Beam height

BEAM HEIGHT OF
ASSEMBLED UNIT

Mounting plate

57
3.5 50
! @ &
s
\ /
& al

Machining details for typical mounting

Transmitter (Tx) or
receiver (Rx)

(Horizontal mounting with
horlzontal adjustment)
order part number A-2253-0924 i

Translation = £5mm
—

& 6|

Beam centre-line

&

14 28.5 (nominal)

10mm thick.

o,
ﬁw o

Mounting plate detalls
(showing Tx or Rx mounted)

r

Dimensions shown in mm

Typical mounting
(local manufacture)

| —— 4 holes M5 x 0.8 x 12MM
deep minimum

Mounting plate with horizontal adjustment

1 Translation
1 £1.5mm

63.5 Beam height

BEAM HEIGHT OF
ASSEMBLED UNIT

Mounting plate
(Horizontal mounting
with vertical adjustment)
order part number A-2253-0702
4 HOLES M5 x 0.8 x 10

DEEP MINIMUM
55.05
54.95
53 1.0 (2 POSN)
08 L8 G
60X 11DP 4 '\D>)
2'POSN @
[ 165 g 3
< 4
©
I AL
Y (J ‘
45

MACHINING DETAILS FOR TYPICAL MOUNTING

Transmitter (Tx)
or reciever (Rx)

& ¢ ©

| Beam centre-line
A\

65

26.5

o ©

65

Mounting plate details
(showing Tx or Rx mounted)

17
3

A\

3

Typical mounting
(local manufacture)

Dimenslons shown In mm

Mounting plate with vertical adjustment

Horizontal mounting

2




-9.5 (nominal)

25

(nominal)

—s

@0 0@

4.5

70

o)
o C

U

% I Translation = £2.25mm
MOUNTING PLATE DETAILS

TRANSMITTER (Tx) OR
RECEIVER (Rx) UNIT

M5 x 0.8 x 12 DEEP
MINIMUM

50

% 8mm thick.

MOUNTING PLATE
(VERTICAL MOUNTING)
order part number A-2253-0188

7

A
%

-
©

14

A
A

25
53

{é

{%}77,

MACHINING DETAILS FOR TYPICAL MOUNTING

Vertical mounting

apply innovation™

Mounting plates

| Translation = £2.25mm

——

Dimensions shown in mm

Typical mounting
(local manufacture)




Data sheet

NC1 non-contact tool setting system accessories

Adjuster packs

40

A

W

MINIMUM (FRONT MOUNTING ONLY)

4 HOLES M5 CLEARANCE

/— (REAR MOUNTING ONLY)

&

MACHINING DETAILS FOR TYPICAL MOUNTING
Dimenslons shown In mm

Note. When using the adjuster pack or spacer pack to
mount elther the Tx or Rx, the unit may be
orientated to any one of the four positions shown.

| |
425 Transmitter (Tx) or
Re—{ o> @: _ﬂ; (NOMINAL) receiver (Rx)
s, v | @
© Yol o) —~|
-
Ty ® Rz :1 () §
O-—@& o =
T — ~~Rz T o
vl (eeon oy — | Z
Y [T ui -
X m=i=r=m =t I
% 1 e
Ry/ ADJUSTER PACK
(order part number A-2253-7600)
Ty a o
Tz B ©) © Note. Only one adjuster pack
Ry v is required for each syst
and may be fitted to either
. =/ ‘ ‘ ‘ ‘ the Tx or Rx unit.
Translation Y (Ty) = #2.5mm
Rotation Y (Ry) = +2° Tz —Tz
Translation Z (Tz) = £Smm 95 Dimenslons shown In mm
Rotation Z (Rz) = £5°
I | Transmitter (Tx) or
Receiver (Rx)
©
©l g
=]
o
75
D) % (order pa?tpatfrﬁseril\\gzlgs&noﬂ
o Note. The spacer pack is intended
©| for use with the adjuster pack
@ @ and should be fitted to elther
the Tx or Rx unit opposite the
adjuster pack
95
Dimensions shown in mm
85
20 45
o o o~ G-
\4 HOLES TAP M5 x 0.8 x 12 DEEP

Adjuster pack — separate system

4




apply innovation™

Adjuster packs
Mounting 60
hole ‘A’
=i '
@ g ©
‘ 81
=L 3 '_'I P nominal
=21
- _l18 29
30
4 plate adjuster pack
(order part number A-2253-0265) Dimensions shown in mm
Mounting 50
hole ‘A
45
2 holes tap h
M5 x 0.8 x_1 I
12 deep A10 |
minimum
Machining details for typical mounting
60
©
faY
L s 29
Spacer plate 30
(order part number A-2253-0270)
Dimensions shown in mm
Mounting 50
hole ‘A
45
2 holes tap N
M5 x 0.8 X_/ N9
12 deep R10 0| &
minimum 4
Machining details for typical mounting

Adjuster pack — separate system
5



Data sheet
NC1 non-contact tool setting system accessories

Adjuster packs

ADJUSTER PACK Item taken from
order part number A-2253-7650 stankdard al’i_iil:iSter
pack supplie
20 30
5 60
35 ADJUSTER PACK (EXTENDED)
order part number A-2253-0925
35 55
O)
&
& -0 1~ O O
AW
8 8 @ F O O
e & {f» {% ﬁ}
A 'e) A 8 . /fﬁ ; ; /fﬁ
©o A2 U AN
&
70 B B
220 1 ©
SIS R 110
13 20
SECTION A-A ] I 320
o| © 1 =
N T LA V
v 75
Dimensions shown in mm @13 313
20
SECTION B-B
Dimensions shown in mm
ADJUSTER PACK ADJUSTER PACK (EXTENDED)

(provides greater flexibility when mounting the fixed NC1)

Adjuster packs - fixed system
6



apply innovation™

Spares and general accessories

NC1 INSTALLATION GUIDE
order part number:

order part number P-FI01-S002

2 AMM BLACK NYLON TUBE
AIR LINE (25M)
order part number P-PF26-0010

English - H-2000-5048
German - H-2000-5127
French - H-2000-5128
Italian - H-2000-5129

HEAT SHRINK

2.5mm Al
NC1 AIR ASSEMBLY KIT
order part number A-2253-5120 4mm A v
=~ PIN SPANNER (P-TL09-0005)

2M x & TMM STAINLESS STEEL NC1 TOOLKIT

SPRING CONDUIT (order part number A-2253-3500)

(FOR PROTECTING AIR LINE)
order part number M-2253-0207

& 4MM EQUAL TEE PIECE CONNECTOR
AR FILTER SERVIGE KIT order part number P-PF04-0010

90 DEGREE CONNECTOR WITH
12.5M OF CABLE, 4M OF & 15MM
STEEL BRAIDED CONDUIT AND
FERRITE

order part number A-2253-6106

PART OF AIR NOZZLE KIT
A-2253-0264

STRAIGHT CONNECTOR WITH
12.5M OF CABLE, 4M OF Z15MM
STEEL BRAIDED CONDUIT AND
FERRITE

order part number A-2253-6105

P-TL09-0005 SLIDING COVER

order part number M-2253-0225

NC1 AIR NOZZLE KIT
(CONTAINS RX AND TX AIR NOZZLES)
order part number A-2253-0264

M16x1.5 LOCKNUT

(REQUIRED WHEN THICKNESS OF
& 15MM STEEL BRAIDED CONDUIT MOUNTING IS LESS THAN 3MM)

(USED TO PROTECT ELECTRICAL CABLE) der bart numEor P-NU09-0016
order part number P-H001-0010 order part number
(sold per metre)

FERRITE
order part number P-CA59-0013

CABLE GLAND
order part number P-CA61-0054

IP
order part number P-MA01-0041

HOSE/CABLE GLAND
order part number P-CA61-0050



Renishaw plc +44 (0)1453 524524

New Mills, Wotton-under-Edge, +§‘é (°>1,4;’3 524901
i u renishaw.com = = ™
ﬁﬁ”e%eit.fgggﬁ GL12 8JR apply innovation

H-2000-2051-03

© 2002-2004 Renishaw plc Renishaw reserves the right to change specifications without notice Issued 03.04 Part no. H-2000-2051-03-A



	NC1ACCESSDATASHEET - CONTENTS (web).pdf
	Mounting plates
	
	
	
	Horizontal mounting




	Mounting plates
	
	
	
	Vertical mounting




	Adjuster packs
	
	
	
	Adjuster pack – separate system




	Adjuster packs
	
	
	
	
	
	
	�



	Adjuster pack – separate system




	Adjuster packs
	
	
	
	Adjuster packs – fixed system




	Spares and general accessories


